Complete Cloze Exercise for Macbeth


In Act I of Macbeth, there is a war going on between (1) and (2). The captain enters and tells how (3) and (4) were brave in battle. Then we learn that (5), who was once helping King Duncan and his men, has become a traitor. The Thane of Cawdor is then ordered to be (6) by King Duncan and the title of thane is to go to (7). Suddenly, the scene changes to one that introduces the three witches. Here the three things they foretell are (8), (9), and (10). However, Banquo is with Macbeth. The witches tell Banquo (11). Shortly after, Ross comes and tells Macbeth (12). Macbeth’s mind reverts back to the conversations he had with (13). He begins to wonder (14). The scene then shifts to a different location of (15). Here we see (16) reading a letter from (17) talking about his meeting and conversations with the witches. Here we see that Lady Macbeth becomes (18) with becoming (19) However, we learn that she fears her husband (20). (21) devises a plan. That plan is (22). We also learn that (23) is having (24) thoughts about (25). Why is he having second thoughts? There are three reasons: (26), (27), (28).We also observe that Macbeth is being (29) by his wife. We know that because she (30) by saying (31).In act II, we see Macbeth imagining a (32). This tells the reader (33). Suddenly Lady Macbeth rings a bell. This signifies to Macbeth that (34). What has Lady Macbeth done to the guards? (35).What has Macbeth committed? (36) When Lady Macbeth says, “A little water clears us of all this deed,” what does she mean? (37). When Macbeth says, “Wake Duncan with thy knocking! I would thus couldst!”  What does he mean? (38). How is the statement that Macduff says to Macbeth ironic, “I know this is a joyful trouble for you.”? (39). Suddenly, we learn that not only is (40) dead, but so are (41). At first Macduff believes that (42) killed King Duncan. However, Macbeth only says that he killed (43). After this realization, people began screaming. Lady Macbeth, realizing that the focus of blame would be on her husband, suddenly faints to (44).  Next we see (45) and (46) enter. They both decide (47) and (48) against anyone in the house for fear of (49). That being decided (50) goes to England and (51) goes to Ireland. Due to their hasty departure, (52) and (53) are eluded to being the (54) of King Duncan and the guards. In act III, we know that (55), (56) and (57) are the only three people that know about the witches and what they foretold. In order to remain king though, (58) must kill (59) and (60). This murderous act does (61) cause Macbeth any undue hardship. Here we see a change in Macbeth’s character from the first two acts. What is the change? (Hint: It has something to do with his wife.) (62). When Macbeth says pertaining to Banquo’s absence, “Who may I rather challenge for kindness that pity for mischance,” how is that statement ironic? (63) Suddenly here we see that (64) enters the room. However, (65) is the only person who is able to see him. This shows the reader that (66). Finally in an act of self-preservation, (67) throws everyone out of her house and tells them to leave the party stating (68). When Lady Macbeth and Macbeth are finally alone, we hear that Macbeth is going to go see (69) to find out (70). Back at the palace, Lennox says, “Men must not walk too late,” suggesting what about Banquo’s death? (71) Thus since Macduff refused Macbeth’s order to appear before him, Macduff is now seen as a (72).
In Act 4, we know that the witches are making a (73) for Macbeth. He wants to know (74). Suddenly (75) strikes and a (76) appears. They tell him that he must beware (77). Then a (78) strikes and a (79) appears. They tell him (80). Lastly, a (81) thunderbolt strikes and a (82) appears. They tell him (83). In response to the last apparition, Macbeth’s response is (84). Just when Macbeth is sure that everything will work out for the best, apparitions appear with (85) being last. Why is his head “blood-boltered” (86)? Next Macbeth learned from Lennox that (87) fled to (88). This enrages Macbeth. In his rage and mental instability, Macbeth decided he will kill (89). The scene then shifts to the palace of the king of England. Here the act of dramatic irony is (90). Macduff reacts with (91). As a result, (92) and Macduff plan to (93) and (94) Macbeth. Finally in Act 5, the setting is now back at (95) castle. Here we find out that (96) has started to (97). She begins to (98), which she should not because no one else knows the truth. In a previous act, Lady Macbeth said, “What, will these hands that never be clean?” How are those two situations contradictory to eachother?(99). The scene shifts to an area around Dunsinane. Here the (100) and (101) are going to attack Macbeth. However, Macbeth feels impervious because (102). Suddenly we learn that Malcolm has devised a plan to defeat Macbeth. That plan is (103). How is that plan going to hurt Macbeth? (104). Next we hear a (105) and we learn that (106) has died. Macbeth learns from a messenger that (107). This makes Macbeth (108). Here Macbeth charges into battle against enemies, much like he did at the beginning of the play. Macbeth again feels impervious because he can’t die by (109). Suddenly, Macbeth and (110) meet and they (111). Macbeth goes and tells Macduff, “I bear a charmed life…” what does this mean and why does he say it (112)? Then Macduff tells Macbeth what about himself? (113). When that key fact is revealed, Macbeth realizes that the witches’ prophecies were meant to (114) him. Finally, in the end (115) is killed and (118) is made king.

